


¥ U-suls
|) ()men#fS@S




) 55 0-30) 4
%‘QXIMM p M’Sﬂ’; /00\”4‘ [M&

j@x//1(4~3xl) j)( 0. x% |z X%
J - ;
% 3 tC
| — %L
/ _ 5/z
So’zoﬂz- 5% “dhe [‘-g@;fa 3o % /
ZX 4 C




, /, | |
U= Fx J@""‘;u/’“ AU J:"‘ (LW"‘WWl)JoL
ol N | '
Ts | solve43c x ¢ x4 F-u L ﬁ TN ‘fug/z- L{%JL(
z :
oﬂu:,ux SG'“ W "“?u *47(4_3_/1 /%% (i%-
" 3 s TC
<= 1, : © 47
Ao Ax J_a (7‘¢_{)Ju 7B
(F-)(F-u) “‘j_?f' 344_2_5/‘ 5, 7 7,
3 e -;76{ +C
1 —
— CI?( Y ae ‘
— 7-x) % 4 % 2 %,




at
AL

ﬂﬁﬁhja>

Convart 4 zur/f}

I x=( u= /Q{-%q —|
IS X:cfj uzl-2 2 u = -2



U-su
?) R Ay

2 SinX g&
cCos x COSX) | )
| B +C
.‘ . u
K= CosX ff_?;xzix 5 5(;9- *{;{ Bl
G = _/_"j< i
< i =l
;&“"Wﬂx / 5 | (HU
==sinx dx N ~lw du ,
C’PM"‘ SnX e _J-‘:(_;:O{M




